\

/710

O

X6
1 2 15x12||3 15x16] 14 8x35(19
_,@ﬁ'/)izo @lxm & X8 s 2y x12]
5 7 6 L=565 8 L=370 10
N % Q
% x1 @ x20] /I x5 /Ex1 x80] x8
11 12 - 1% L=1144114 Ef 15 E=2020) 18 3x16
&2l 081 al| 15 7] | L 7 )

140 min.

Tin







e 2

X
4 8x35




8 L=370
/ x1

1
o7 oo

3,5x16
&\
x4







17

......................... b )
.............. BM %w
% [ 1

Ghh N

= [x80l

N\
1 W L=1144
x1
3,5x16
S\

10




20

18

—




2020

L=

15

12

16

i
I T

\\ \\\\\\ I \\

G777




20

, 4x16
\&\

| x4

13




HHHHH

14

14@@




	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10



